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H H A A H 7 U N HLEn B H HrfE s — N WY BEE = b= N X
£AKH - - 6H10H 6H10H 6H10H 6H10H 6H16H 6H16H 6H16H 6H16H -
ki - C 22.7 22.6 21.5 24.5 20.6 23.7 22.6 23.8 22.5

T vy F o v kE ¥ x o { A B 0.02L4F mg/1 <€0.002 <€0.002 <€0.002 <€0.002 <€0.002 <€0.002 <€0.002 <€0.002 <0.002

> 5 N )3 [6) z D b = L7} 0.002L4 T mg/1 0.0002 <0.0002 <€0.0002 <0.0002 <€0.0002 <0.0002 <€0.0002 <0.0002 0.0002

= v i v % o = » 4 & ) 0.02LL F mg/1 <0.002 <€0.002 <0.002 <€0.002 <0.002 <€0.002 <0.002 €0.002 <0.002

1 , 2 - v s = = £ v v 0.004LL F mg/1 <€0.0004 <0.0004 <€0.0004 <0.0004 <€0.0004 <0.0004 <0.0004 <0.0004 <0.0004

k 2 = N 0424 F mg/ <0.04 <€0.04 <0.04 <€0.04 <0.04 <€0.04 <0.04 €0.04 <0.04

7 % o oY (2 - = F oo~ F o) 0.08LL F mg/1 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008 <€0.008 <0.008 <0.008

2 V4 = = 7 + S = k Y Vi 0.01LLF mg/1 <0.001 0.002 0.001 0.001 <0.001 <€0.001 <€0.001 €0.001 0.001

il IS 7 o 7 — Vi 0.0204F mg/1 <0.002 0.007 0.002 0.004 <0.002 0.003 <0.002 0.003 0.007

i3 o] # # 1BLF mg/1 0.8 0.7 0.7 0.6 0.5 0.5 0.6 0.6 0.8

VI A /2 S/ N S G S S| 10~100LA F mg/ 94 58 77 71 83 78 80 72 58 94

> n oy Kk ® o o A B 0.01LLF mg/ <0.001 <€0.001 <0.001 <€0.001 <0.001 0.002 <0.001 <€0.001 0.002

g B I i 2081 F mg/1 9 3 5 4 5 4 4 4 9

T, 1 , 1 - ~ VU 7 =m wBm = X v 0324 F mg/1 <0.03 <0.03 <0.03 <€0.03 <0.03 <€0.03 <€0.03 €0.03 <0.03

2z F L t - 7 F A = — F J (MTBE) 0.028L F mg/1 <0.002 <€0.002 <0.002 <€0.002 <0.002 <€0.002 <€0.002 €0.002 <0.002

H ] L) = ( KMnO4 ) 3LLF mg/1 0.6 1.3 1 1.1 1 1.2 1.1 1.1 1.3

B B G I ( TON ) 3LUF B <1 <1 <1 <1 <1 <1 <1 <1 <1

73 ¥ 7% 7 L7} 30~200LL F mg/1 353 131 178 157 166 160 187 171 131 ‘ 353

B B 1BLF B <€0.1 <0.1 <€0.1 <0.1 <€0.1 <0.1 <€0.1 0.1 <0.1

D H i 7.5FLHE mg/1 7.9 7.2 7.6 7.6 7.7 7.7 7.7 7.8 7.2 ‘ 7.9

Bmoo® ® o 0z v F U 7 fF M )| -UEREME 0 | mg/l 0.0 -1.7 -0.7 -0.8 -0.6 -0.7 -0.5 -0.6 0

7t A ES 3 kil HEVEHR2000L0 T | {E/ml 3 1 3 3 6 1 5 4 6

1 , 1 - Y s 9w m = F L v 0.1L4F mg/1 <€0.01 <€0.01 <€0.01 <€0.01 <€0.01 <€0.01 <€0.01 €0.01 <0.01

7 L I = v A K W™ F O & A& W 0.1L4F mg/1 <€0.01 <€0.01 <€0.01 <€0.01 <€0.01 <€0.01 <€0.01 €0.01 <0.01
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